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2023
ZOOLOGY

( Honours Generic/Regular)
Paper : ZOO-HG-4016/Z00-RC-4016
( Genetics and Evolutionary Biology)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following : 1x7=7
woe fAal e Bey fua ¢

(i) What is the unit of measurement for
genetic linkage ?

N e (@R @ [0
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(i) Whatis the phenotypic ratio of Mendel’s 2. Write the difference between of the following :

monohybrid cross ?

2x4=8
(TR G TP AT JSHe! Sl woTe AT iR fomdi 3
fe? | () Aneuploidy and Polyploidy
(fii) What is pleiotropy ? SPHEITl W TRl
RN Ree (i) Back cross and Test cross
AL ST A FARA

fiv) What is mutagen ? (iii) Down’s syndrome and Turner’s

BRI I B e syndrome

e BE'w oiie Sifis P’

v} What is palaeontology ? : . .
) p & ; (ivj Induced mutation and Spontaneous

GRM-Rem e | mutation
i RBH I Forgs RNSHo
(vi) What is genotype ?
R e 3. Answer any three of the following :
5x3=15
(vii) Give an example of living fossi] were il el Ricwien Ry Se fmt ¢
GRS SRR <5 Sargge | (i) Write the important features of

chromosome theory of inheritance.
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(iii)

(iv)

(v)

ifer TUEi IER 1Y SR Rew
ot

What is chromosomal mutation ?

Describe the phenomenon of deletion
1+4=5

AT BeRadn Ifonm B qmie By
AR FRITS SopiRet siR¥Bar 3

with suitable example.

Write a short note on different types of
fossils.

Rfen ovRT TRMPIRR eoRe o 5y o
ferat

What is extinction? Give g detailed
account of K-T extinction. 1+4=5

R B2 K-T Repfs Raew 3ot oy

Write a short note on Neo'D&rWinism

0 RS o a5y, o
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4.

(a)

(b)

(a)
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Give an account of Lamarck’s theory of
evolution. Write the drawbacks of

Lamarckian theory. 5+5=10
FARPM FE TR TSR SCEAIS 3941 |
CTIRIMT SRIfRUPTR ol |

or/a

Write a note on dating of fossils.
Describe the process of evolution with
the help of fossil record. S5+5=10

GRMR 89 AR eoige @t Bt it | Ry
RS FRMR AFR AYTS I 1 |

What is gene mutation ? What are the
different types of gene mutation ? Write
the differences between back and
suppressor mutations. 2+4+4=10

i Beotfirsa e & qmie Rfen oorw

fETia Besifiadmmg [ [ ¢ spo1ead] BesiRads
Wi SRS BesiRaET] e PN B
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(b) Define natural selection. Explain the
postulates and criticism of Darwin’s
theory. 2+4+4=10

el R et fial | BRTERR TR | -
00T I I ST T TR SCER
Sof

6. (a) What is macroevolution? Write the
principles of macroevolution. Describe
adaptive radiation with the help of
“Darwin’s finches”. 2+4+4=10

7o wRer e 7o waRars Afew fi
“TRETH RmEY Wiy RS wfewifers
R R R =4

Oor/«

(b} What is sex-linked inheritance ? Explain
the phenomenon by giving the examples
of colour blindness and haemophilia.

2+4+44=10
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